
question type question# algorithm viewers average answer agreement ques. has 100% algorithm agrees with # of viewers  statistically significant majority majority answer avg. %age agreement
line=1, plane=2,orthogonal=3,symmetry=4,parallel=5 electronic print outs %age %age agreement majority viewers in majority of viewers for the model

model #1 revolve 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0 100 revolve
2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1

model #2 wrinkle 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1 100 wrinkle
1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0
2 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1

model #3 fighter 2 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1 0 1 0 13 87 0 1 4 27 1 0 91.6 fighter
1 2 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 90 90 0 1 28 28 1 1
1 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0
3 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0
5 5 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 0 1 1 0 1 1 1 1 0 1 0 1 1 0 1 81 81 0 1 25 25 1 1

model #4 guitar 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1 89.8 guitar
3 2 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 94 94 0 1 29 29 1 1
3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
4 4 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 97 97 0 1 30 30 1 1
4 5 1 0 0 1 1 1 1 0 0 0 0 0 1 0 1 0 1 1 1 0 1 0 0 0 0 0 1 0 1 0 1 0 42 58 0 sym 0 13 18 0 0

model #5 iron 2 1 1 0 0 0 0 0 0 1 1 0 1 0 0 0 0 1 0 1 0 0 0 1 0 1 0 1 1 1 0 1 0 1 39 61 0 plane 0 12 19 0 0 75.4 iron
1 2 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 10 90 0 1 3 28 1 0
4 3 0 1 1 1 1 1 0 0 1 0 0 0 0 0 0 1 1 0 0 1 0 0 0 1 0 0 0 0 1 1 1 0 42 58 0 sym 1 13 18 0 0
4 4 0 0 1 1 1 1 0 1 0 0 0 0 1 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 26 74 0 1 8 23 1 0
5 5 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 94 94 0 1 29 29 1 1

model #6 camera 1 1 0 0 0 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 1 0 0 0 16 84 0 1 5 26 1 0 85.8 camera
5 2 1 1 1 1 1 1 0 1 1 1 0 1 1 1 1 1 1 1 0 0 1 1 1 1 0 1 1 1 1 1 1 1 84 84 0 1 26 26 1 1
3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 5 0 1 1 1 1 1 1 0 1 1 0 1 0 1 1 1 1 0 0 0 1 1 0 0 1 0 0 0 1 1 0 1 61 61 0 perp 0 19 19 0 1

model #7 tube 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1 100 tube
2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
2 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1

model #8 vacuum 1 1 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 90 0 1 3 28 1 0 83 vacuum
2 2 0 0 0 1 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 90 0 1 3 28 1 0
2 3 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 1 1 1 0 0 1 23 77 0 1 7 24 1 0
3 4 1 1 1 0 0 1 1 1 0 1 1 1 1 0 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 84 84 0 1 26 26 1 1
5 5 1 1 1 0 0 0 1 0 0 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 0 74 74 0 1 23 23 1 1

model #9 blender 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1 98.8 blender
1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0
3 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 1 0 0 0 0 6 94 0 1 2 29 1 0
3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
5 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 1 1 0 31 1 0

model #10 hand‐vac 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 1 1 1 1 0 1 0 1 1 1 1 1 1 1 1 1 90 90 0 1 28 28 1 1 81.4 hand‐vac
2 2 1 0 1 1 0 0 0 1 1 0 0 1 1 0 1 0 0 1 0 0 0 1 0 0 1 1 1 0 1 1 1 0 48 52 0 plane 0 15 16 0 0
3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 100 100 1 1 31 31 1 1
5 5 0 1 1 0 0 1 1 0 0 1 0 0 0 0 1 0 0 0 1 0 0 0 0 1 0 0 0 1 1 0 1 0 35 65 0 par 1 11 20 0 0

                           
   

Statistics

# of line ques. 12
# of planar ques. 10
# of ortho. ques. 14
# of sym. ques. 5
# of parallel ques. 9

# of viewers 31  

agreement histogram 50‐69 6
70‐89 8
90‐100 36

exactly 100 27
 

#ques. Where algo
agrees with viewer 46
majority

# ques. Where viewer
agreement was stat. 44
significant


